ALK ORI DR N EA D NFICBI T 2 FHEHD AR

(2 S EEH)
Z KN AN K
4 | PRk 2 8 HNE2 2 8 1 584t EKRWE T3
% ATl AR R TR SR N
i Al AR ITEF
ERKETE EE 1=204.0m. 18§ W=4.6m
BT V=248.0m3 TJEKM T A=826. 7m2
75 gl BEBAET A=805.2m2 HET A= 11.5m2
)BT A=812.4m2 R TIEMmIEA= 34. 4m2
o 5 X AR —x
ERWETH EE 1=204.0m. 1§ W=4.6m
T V=248.0m3 TEKE T A=826.7m2
75 12| EERAR T A=805.2m2 HET A= 11.3m2
a1 A=815.6m?2 JE+IEHTEA= 63. 0m?2
DX E R T —1 MaEa/s)-b  —(
%ﬁ’@ﬂ;ﬁﬁ'ﬁ% FOEGl ER284 6 H23H b YHK284F10H31H £T
V3 H
25 %] FRK284 6 H23H b EH28F10H31H £T
7= 3] 6, 804, 000 5 B INER
%’%f\’](ﬁ%ﬁk ORI M (5 BiEER 504, 000 M)
z HE % 6,998,400 [ (9 HIHEBL 518,400 M)
mowy o TEOEHICH, B Of STHEROMLENEUIE), 227
RN e R ey
* Ar| BT HEERE 2 7 6 3 FHh
AR EFE - X Py
4 PR R (RFEEURR  SH3E
1 4 g FA TR R AR




